0 Adding Three 3-Digit Numbers - With Carrying 0

ENTSTUDIES LO: to use column addition

Focusad o e vl Calculate the answer to the following:
317 801 512 7129
+ 291 + 540 + 209 + 662
328 18 183 242
957 505 662 421
+ 402 + 198 + 420 + 240
203 204 234 397
172 571 481 7193
+ 541 + 269 + 209 + 621
146 272 197 544
Challenge: Complete the following calculations:
_64 54_ 81_
+ 23 + 291 + 6_2
13_ 1_6 478
807 1_10 __75
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317 801 512 7129

+ 291 + 540 + 209 + 662
328 18 183 242
936 1459 904 1633
957 505 662 421

+ 402 + 198 + 420 + 240
203 204 234 397
1562 907 1316 1058
772 571 481 7193

+ 541 + 269 + 209 + 621
146 272 197 Hhl
1459 1112 887 1958

Challenge: Complete the following calculations:

L64 543 815
+ 213 + 291 + 682
130 176 478
807 1010 1975
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